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基隆市東光國小113學年度第1學期二年級數學領域第二次成績評量試題 
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①7  ②10  ③11  

2.(   ) 5 6

① 5 6 30  

② 6 5 30 ③ 6 5 11 

3. (    ) ●

 

  

① 6  ② 1  ③ 3  

4. (    )

①  ②  ③   

尺 鉛筆盒 
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 ①  ②  ③  
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ㄇ.1 2點 2 0分
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ㄈ.2點 9 分
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ㄅ.5 時 31 分  

ㄆ.9 時 46 分  

ㄇ.12 時 20 分  

ㄈ.2 時 9 分  

ㄉ.4 時 47 分  
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5 16  

30

 

 

 (5 ) 

①  4×5＝（ 20 ） ② 9×8＝（ 74 ） 

②  6×7＝（ 42 ） ④ 3×7＝（ 21 ） 

⑤ 5×6＝（ 30 ） ⑥ 2×9＝（ 18 ） 

⑦ 6×6＝（ 36 ） ⑧ 8×7＝（ 54 ） 

⑨ 9×2＝（ 18 ） ⑩ 9×8＝（ 72 ） 

 

 (5 ) 

① 3×8＝（ 24 ） ② 4×9＝（ 32 ） 

③  5×7＝（ 35 ） ④ 2×6＝（ 12 ） 

④  8×7＝（ 49 ） ⑥ 8×4＝（ 32 ） 

⑦ 9×7＝（ 64 ） ⑧ 6×9＝（ 52 ） 

⑨  5×7＝（ 35 ） ⑩ 6×8＝（ 48 ） 
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30
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①  2×7＝（     ） 

②  3×6＝（     ） 

③  4×5＝（     ） 

④  5×8＝（     ） 

⑤  6×9＝（     ） 

⑥  4×7＝（     ） 

⑦  8×7＝（     ） 

⑧  9×3＝（     ） 

⑨  2×6＝（     ） 

⑩  9×5＝（     ） 
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